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def export(self):
for i in range(0, int(self.phone_record_count)):

current_offset = int(self.first_phone_record_offset + i =*

< self.phone_fmt_length)
buffer = self.buf[current_offset: current_offset + self.phone_fmt_length]
cur_phone, record_offset, phone_type = struct.unpack(self.phone_fmt, buffer)
record_content = get_record_content(self.buf, record_offset)
vield Phone._format_phone_content(cur_phone, record_content, phone_type)

RIELE 1, FIHFABENEI=
130, 131, 132, 133, 134, 135, 136, 137, 138, 139, 145, 147, 149, 150, 151, 152, 153, 155

RIELER 2, BRI

threePrefix =[130, 131, 132, 133, 134, 135, 136, 137, 138, 139, 145, 147, 149, 150,
< 151, 152, 153, 155, 156, 157, 158, 159, 170, 171, 172, 173, 175, 176, 177, 178,
< 180, 181, 182, 183, 184, 185, 186, 187, 188, 189]
tree = {}
for prefix in threePrefix:

# first = prefix // 100 # always 1
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second = prefix // 10 % 10

thirds = tree.setdefault(second, [])

third = prefix % 10

if third not in thirds:
thirds.append(third)
thirds.sort()

(e, 1, 2, 3, 4, 5, 6, 7, 8, 91,
[5, 7, 91,

[e, 1, 2, 3, 5, 6, 7, 8, 91,
[e, 1, 2, 3, 5, 6, 7, 81,

(e, 1, 2, 3, 4, 5, 6, 7, 8, 91}

RIFLSE 3 SHXE

def calcRegexRanges(nums):

start = nums[0]
end = nums[0]
xs = []
for s in nums:
if s > end + 1:
# print(v.get('seconds'), start, end)
if start = end:
xs.append(str(start))
elif end - start = 9:
xs.append('\\d")

else:
xs.append(str(start) + '-' + str(end))
start = s
end = start
else:

end = s

# print(v.get('seconds'), start, end)

if start = end:

xs.append(str(start))
elif end - start = 9:
xs.append('\\d")

else:
xs.append(str(start) + '-' + str(end))
# print('xs: ', xs)
if len(xs) = 1 and '-' not in xs[0]:
rs = xs[0]
else:
rs = '[' + "'.join(xs) + ']’
return rs
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groupped = {}

for k,v in sorted(tree.items()):
i = groupped.setdefault(str(v), {})
i.setdefault('thirds', v)
i.setdefault('seconds', []).append(k)

segs = []

for k,v in sorted(groupped.items()):
ssp = calcRegexRanges(v.get('seconds'))
tsp = calcRegexRanges(v.get('thirds'))
segs.append(ssp + tsp)

regex = '1(' + '|'.join(segs) + ')\\d{8}'
print(regex)
HR

1([38]\d|5[0-35-9]|7[0-35-8]]4[579])\d{8}
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